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1. A transistor biasing is generally 
provided by :   
(A)   Biasing circuit 
(B) Bias Battery 
(C) Diode  
(D) None of these  

 1. VªkaftLVj dh ok;flax lkekU;r% nh tkrh gS%  

(A) ck;flax ifjiFk ls 

(B) ck;l cSVjh ls 

(C) Mk;ksM ls 

(D) buesa ls dksbZ ughs 

2. For proper operation a silicon 
transistor must have ஼ܸா :  
(A)   Not fall below 1V 
(B) Be zero 
(C) Be 0.2V 
(D) Fall below 1V  

 2. mfpr izo/kZu gsrq ,d flfydkWu VªkaftLVj ds 

஼ܸா dk eku gksuk pkfg, % 

(A) 1V ls de ugha 

(B) ‘kwU; 
(C) 0.2V 
(D) 1V ls de gks 

3. For proper operation of the 
transistor, the collector should be :  
(A)   Proper forward Biased 
(B) Proper reverse Biased 
(C) Very small 
(D) None of these 

 3. VªkathLVj ds mi;qDr lapkyu gsrq] laxzkgd 

gksuk pkfg, % 

(A) mi;qDr vxz vfHkur 

(B) mi;qDr i’p vfHkur 

(C) cgqr NksVs vkdkj dk 

(D) mijksDr esa ls dksbZ ugha 

4. If the transistor biasing is not done 
the Amplifier circuit results in :  
(A)   Decrease base current 
(B) Unfaithful amplification 
(C) Increase in collector current  
(D) None of above  

 4. ;fn VªkaftLVj ck;flax u dh tk;s rc % 

(A) vk/kkj /kkjk ?kVsxh 

(B) vfo’oluh; izo/kZu gksxk 

(C) laxzkgd /kkjk c<+sxh 

(D) mijksDr esa ls dksbZ ugha 

5. Operating point in a Transistor 
represents :  
(A)   Value of ܫ௖, ஼ܸா when signal 

is present 
(B) The magnitude of signal 
(C) Value of ܫ௖, ஼ܸா at zero signal 
(D) None of above  

 5. VªkaftLVj esa izpkyu fcUnq iznf’kZr djrk gS % 

(A) flXuy mifLFkr gksus ij ܫ௖ , ஼ܸா dk 

eku  

(B) flXuy dk vk;ke 

(C) ܫ௖, ஼ܸா dk ‘kwU; flXuy ij eku 

(D) mijksDr esa dksbZ ugha 
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6. Transistor Biasing represents the 

conditions :  

(A)   AC 

(B) DC 

(C) AC and DC both 

(D) None of these  

 6. VªkaftLVj dh ck;flax iznf’kZr djrh gS % 

(A) AC fLFkfr dks 

(B) DC fLFkfr dks 

(C) AC o DC nksuksa fLFkfr dks 

(D) buesa ls dksbZ ugha 

7. ICEO is :  

(A)   Collector Current in CE 

transistor at zero base current 

(B) Emitter current in CE mode 

at zero Base current 

(C) Collector current in CE mode 

at zero Emitter current  

(D) All (A), (B), (C) are wrong   

 7. ICEO D;k gS \ 

(A) ‘kwU; csl /kkjk ij] CE VªkaftLVj esa 

laxzkgd /kkjk 

(B) ‘kwU; csl /kkjk ij] CE VªkaftLVj esa 

mRltZd /kkjk 

(C) ‘kwU; mRltZd /kkjk ij] CE VªkaftLVj 

esa laxzkgd /kkjk 

(D) lHkh (A), (B), (C) xyr gSa 

8. An advantage of a transistor is :  

(A)   Its small size 

(B) Lack of heater 

(C) Very long life  

(D) All the above  

 8. ,d VªkaftLVj ds xq.k gSa %  

(A) mldk NksVk vkdkj 

(B) de Å”ek mRltZu 

(C) cgqr yEch vk;q 

(D) mijksDr lHkh 

9. If collector current is 100 mA and 

current gain ߚ = 100 then base 

current will be :  

(A)   1.0 ܣߤ 

(B) 10 ܣߤ 

(C) 100 ܣߤ  

(D) 1.0 ݉ܣ   

 9. laxzkgd /kkjk 100 mA gSA ;fn /kkjk ykHk 

ߚ = 100 rc vk/kkj /kkjk gksxh % 

(A)   1.0 ܣߤ 

(B) 10 ܣߤ 

(C) 100 ܣߤ  

(D) 1.0 ݉ܣ 
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10. Which one is correct ?  

(A)   ߙ = 1)ߚ −  (ߙ

(B) ߚ = 1)ߙ −   (ߙ

(C) ߙ = 1)ߚ +   (ߙ

(D) ߚ = 1)ߙ +     (ߙ

 10. dkSu lk lEcU/k lgh gS \ 

(A)   ߙ = 1)ߚ −  (ߙ

(B) ߚ = 1)ߙ −   (ߙ

(C) ߙ = 1)ߚ +   (ߙ

(D) ߚ = 1)ߙ +  (ߙ

11. For a transistor current gain ߚ is 

100, Base current is 200 ߤA, the 

collector current changes by :   

(A)   0.2 mA 

(B) 2.0 mA 

(C) 20 mA 

(D) 200 mA  

 11. ,d VªkaftLVj gsrq /kkjk ykHk ߚ = 100 rFkk 

vk/kkj /kkjk 200 ߤA gS rc laxzkgd /kkjk % 

(A)   0.2 mA 

(B) 2.0 mA 

(C) 20 mA 

(D) 200 mA 

12. Conduction of current in n-p-n 

transistor is due to :   

(A)   Electrons 

(B) Holes 

(C) Anti electrons 

(D) Protons   

 12. n-p-n VªkaftLVj esa /kkjk dk pkyu gksrk gS % 

(A) bysDVªkWu ds dkj.k 

(B) gksYl ¼dksVj½ ds dkj.k 

(C) ,.Vh bysDVªkWu ds dkj.k 

(D) izksVkWu ds dkj.k 

13. For n-p-n transistor which one is 

not correct :  

(A)   Electron moves from base to 

collector 

(B) Electrons moves from 

Emitter to base 

(C) Electrons moves from 

Collector to base  

(D) Holes move from base to 

emitter   

 13. n-p-n VªkaftLVj gsrq dkSu lk dFku lR; 

ugha gS % 

(A) bysDVªkWu vk/kkj ls laxzkgd dh vksj 

cgrs gSa 

(B) bysDVªkWu mRltZd ls vk/kkj dh vksj 

cgrs gSa 

(C) bysDVªkWu laxzkgd ls vk/kkj dh vksj 

cgrs gSa 

(D) gksYl vk/kkj ls mRltZd dh vksj 

cgrs gSa 
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14. In a transistor emitter current is 1.0 

mA, collector current is 0.9 mA, 

the base current is :  

(A)   0.1 mA 

(B) 0.9 mA 

(C) 1.0 mA 

(D) 1.9 mA 

 14. ,d VkaftLVj esa laxzkgd /kkjk 0.9 mA, 

mRltZd /kkjk 1.0 mA gS rc VªkaftLVj esa 

vk/kkj /kkjk gksxh % 

(A)   0.1 mA 

(B) 0.9 mA 

(C) 1.0 mA 

(D) 1.9 mA 

15. The most of the electron those 

flow through the base will :  

(A)   Flow into the collector 

(B) Flow out through base lead 

(C) Recombine with the base 

holes  

(D) Recombine with the collector 

holes   

 15. tks bysDVªkWu csl ¼vk/kkj½ esa izokfgr gksrs gS] 

buesa ls vf/kdka’k % 

(A) laxzkgd esa izokfgr gksrs gS 

(B) vk/kkj fljs ls ckgj fudy tkrs gSa 

(C) vk/kkj dksVjksa ds lkFk iquZ;ksftr gks 

tkrs gSa 

(D) laxzkgd dksVjksa ds lkFk iquZ;ksftr gks 

tkrs gS 

16. The correct relation is :  

(A)   ܫ௖ = ாܫ −  ஻ܫ

(B) ܫ஻ = ாܫ +  ஼ܫ

(C) ܫா = ஼ܫ −   ஻ܫ

(D) ܫ஻ = ாܫ =    ஼ܫ

 16. lgh lEcU/k gS % 

(A)   ܫ௖ = ாܫ −  ஻ܫ

(B) ܫ஻ = ாܫ +  ஼ܫ

(C) ܫா = ஼ܫ −   ஻ܫ

(D) ܫ஻ = ாܫ = ஼ܫ  

17. The maximum doping is done in 

Transistor : 

(A)   In Emitter 

(B) In Base 

(C) In Collector 

(D) Any one of these  

 17. VªkaftLVj esa vf/kdre v’kqf) feykrs gS % 

(A) mRltZu esa 

(B) vk/kkj esa 

(C) laxzkgd esa 

(D) fdlh Hkh ,d esa bPNkuqlkj 
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18. Most commonly used material for 
the construction of Transistor is :  
(A)   Cu 
(B) Si 
(C) Ga  
(D) Ge  

 18. VªkaftLVj ds fuekZ.k esa iz;qDr vR;f/kd 

mi;ksxh inkFkZ gS % 

(A)   Cu 
(B) Si 
(C) Ga  
(D) Ge 

19. A transistor is also called as :  
(A)   Vacuum Diode 
(B) Semiconductor Diode 
(C) Vacuum Triode  
(D) Semiconductor Triode  

 19. VªkaftLVj ;g Hkh dgykrk gS % 

(A) fuokZr Mk;ksM 

(B) v)Zpkyd Mk;ksM 

(C) fuokZr Vªk;ksM 

(D) v)Zpkyd Vªk;ksM 

20. For efficient transistor action :  
(A)   Collector should be heavily 

doped than base 
(B) Collector base junction 

should be forward biased 
(C) Base must be very narrow 
(D) All of above  

 20. VªkaftLVj dh dq’ky fØ;k gsrq % 

(A) laxzkgd] vk/kkj ls T;knk ekfnr gksuk 

pkfg, 

(B) laxzkgd vk/kkj laf/k vxz vfHkur gksuh 

pkfg, 

(C) vk/kkj cgqr ladh.kZ gksuk pkfg, 

(D) mijksDr lHkh 

21. In a transistor :  
(A)   Emitter has the least 

concentration of Impurity  
(B) Collector has the least 

concentration of Impurity 
(C) Base has least concentration 

of Impurity  
(D) All the have the same  

concentration of Impurity   

 21. ,d VªkaftLVj gsrq % 

(A) ,ehVj esa ¼mRltZd½ de lkUnzrk dh 

v’kqf) gS 

(B) laxzkgd esa de lkUnzrk dh v’kqf) 

gksrh gS 

(C) vk/kkj esa de lkUnzrk dh v’kqf) gksrh 

gS 

(D) rhuksa esa leku lkUnzrk dh v’kqf) 

gksrh gS 
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22. The maximum efficiency of the 

half wave rectifier is :  

(A)   40.6% 

(B) 81.2% 

(C) 50% 

(D) 25% 

 22. v)Zrjax fn”Vdkjh dh vf/kdre n{krk gS % 

(A)   40.6% 

(B) 81.2% 

(C) 50% 

(D) 25% 

23. There is a need for transformer for:  

(A)   Half wave rectifier 

(B) Center tap full wave rectifier  

(C) Bridge type full wave 

rectifier 

(D) None of these 

 23. Vªk¡lQkeZj dh vko’;drk gS % 

(A) v)Zrjax fn”Vdkjh esa 

(B) lsUVj VSi iw.kZrjax fn”Vdkjh esa 

(C) fczt Vkbi iw.kZ rjax fn”Vdkjh esa 

(D) buesa ls dksbZ ugha 

24. The main limitation of a half wave 

rectifier is :  

(A)   Components are costly 

(B) Diode must have higher 

power rating 

(C) Output is difficult to filter  

(D) None of these 

 24. v)Zrjax fn”Vdkjh dk eq[; nks”k gS % 

(A) midj.k vo;o eg¡xsa gSa 

(B) Mk;ksM mPp jsfVax ds gksus pkfg, 

(C) fuxZr dks fQYVj djuk dfBu gS 

(D) blesa ls dksbZ ugha  

25. Rectifier has lowest forward 

resistance in :  

(A)   Solid state 

(B) Vacuum tube 

(C) Gas tube  

(D) None of these  

 25. fn”Vdkjh esa U;wure vxz izfrjks/k gksrk gS % 

(A) BkslkoLFkk esa 

(B) fuokZr V~;wc esa 

(C) xSl V~;wc esa 

(D) buesa ls dksbZ ugha 
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26. The frequency of the ripple 

voltage at the output of a bridge 

rectifier operating at 50 Hz supply 

is :  

(A)   25 Hz 

(B) 50 Hz 

(C) 100 Hz 

(D) 200 Hz 

 26. 50 gVZ~t vkòfÙk dh lIykbZ ls izpkfyr fczt 

fn”Vdkjh dh fjiy oksYVrk dh vkòfÙk gksxh% 

(A) 25 gV~Zt 

(B) 50 gVZ~t 

(C) 100 gVZ~t 

(D) 200 gV~Zt 

27. If the filter capacitance is 

increased in full wave rectifier, the 

ripple factor will :  

(A)   Decrease 

(B) Increase 

(C) Stay same 

(D) None of these  

 27. iw.kZ rjax fn”Vdkjh esa (filter) fQYVj dh 

/kkfjrk c<+kus ij fjiy QSDVj % 

(A) ?kVsxk 

(B) c<s+xk 

(C) leku jgsxk 

(D) buesa ls dksbZ ugha 

28. The output voltage of a bridge 

rectifier is :  

(A)   Half wave signal 

(B) Full wave signal 

(C) Sine wave 

(D) Cosine wave   

 28. ,d fczt fn”Vdkjh esa fuxZr oksYVrk gksrh gS% 

(A) v)Z rjax flXuy 

(B) iw.kZ rjax flXuy 

(C) T;k rjax 

(D) dksT;k rjax 

29. How many diodes are used in 

Bridge rectifier ?  

(A)   1 

(B) 2 

(C) 3  

(D) 4   

 29. fczt fn”Vdkjh esa fdrus Mk;ksM iz;ksx gksrs 

gSa\ 

(A)   1 

(B) 2 

(C) 3  

(D) 4 
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30. The ripple factor of the full wave 

rectifier is :  

(A)   1.21 

(B) 0.81 

(C) 0.48  

(D) 0.23  

 30. ,d iw.kZ rjax fn”Vdkjh dk fjiy ?kVd gS % 

(A)   1.21 

(B) 0.81 

(C) 0.48  

(D) 0.23 

31. The Peak Inverse Voltage (PIV) 

for the half wave rectifier is :  

(A)   ܧ଴ 

(B) 2ܧ଴ 

(C) ܧ଴
2ൗ   

(D) ܧ଴
4ൗ   

 31. ,d v)Zrjax fn”Vdkjh gsrq f’k[kj i’p 

oksYVrk dk eku gS % 

(A)   ܧ଴ 

(B) 2ܧ଴ 

(C) ܧ଴
2ൗ   

(D) ܧ଴
4ൗ  

32. The ripple factor of a half wave 

rectifier is :  

(A)   1.21 

(B) 0.81 

(C) 0.48 

(D) 0.23 

 32. ,d v)Z rjax fn”Vdkjh dk fjiy ?kVd gS % 

(A)   1.21 

(B) 0.81 

(C) 0.48 

(D) 0.23 

33. A reversed biased P-N junction 

has resistance :  

(A)   Order of Ω 

(B) Order of ܭΩ 

(C) Order of ܯΩ 

(D) Zero  

 33. ,d i’p vfHkur P-N laf/k dk izfrjks/k 

gksrk gS % 

(A) vkse ds Øe dk 

(B) fdyks vkse ds Øe dk 

(C) esxk vkse ds Øe dk 

(D) ‘kwU; 
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34. When temperature of an extrinsic 

semiconductor is increased the 

effect is on :  

(A)   Junction capacitance 

(B) Minority carriers 

(C) Majority carriers 

(D) Surface effect change  

 34. tc ,d cká v)Zpkyd dk rki c<+k;k 

tkrk gS rks bldk izHkko gksrk gS % 

(A) laf/k /kkfjRo ij izHkko 

(B) vYila[;d vkos’k okgdksa ij 

(C) vf/kla[; vkos’k okgdksa ij 

(D) lrgh izHkko ifjorZu 

35. A P-N junction acts as :  

(A)   Controlled switch 

(B) Bidirectional switch 

(C) Unidirectional switch  

(D) None of these  

 35. ,d P-N laf/k O;ogkj djrh gS % 

(A) ,d fu;fU=r fLop dh rjg 

(B) ,d f}fn’kh; fLop dh rjg 

(C) ,d ,dfn’kh; fLop dh rjg 

(D) buesa ls dksbZ ugha 

36. The random motion of holes and 

free electrons due to thermal 

agitation is called :  

(A)   Pressure 

(B) Ionisation 

(C) Diffusion  

(D) None of these  

 36. rkih; fo{kksHk ds dkj.k gksYl vkSj eqDr 

bysDVªkWuksa dh vfu;fer xfr dgykrh gS % 

(A) nkc 

(B) vk;uhdj.k 

(C) folj.k 

(D) buesa ls dksbZ ugha 

37. With forward bias to a P-N 

junction the width of the depletion 

layer :  

(A)   Decreases 

(B) Increases 

(C) No change 

(D) None of these 

 37. P-N laf/k ij vxz vfHkur esa vo{k; ijr 

dh pkSM+kbZ % 

(A) ?kVrh gS 

(B) c<+rh gS 

(C) vifjorZuh; 

(D) buesa ls dksbZ ugha 
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38. At absolute temperature an 

intrinsic semiconductor has : 

(A)   No holes or free electrons 

(B) Some free electrons 

(C) A few holes  

(D) Many holes and free 

electrons  

 38. ije rki ij vkUrfjd v)Zpkyd gksrs gSa % 

(A) u gh gksy vkSj u gh eqDr bysDVªkWu 

(B) dqN eqDr bysDVªkWu 

(C) dqN gksYl 

(D) cgqr ls gksYl & bysDVªkWu 

39. The leakage current in a P-N 

junction is of the order :  

(A)   A 

(B) mA 

(C) kA 

(D) ߤA 

 39. P-N laf/k esa {kj.k /kkjk dk Lrj eku gksrk 

gS% 

(A)   A 

(B) mA 

(C) kA 

(D) ߤA 

40. The barrier voltage for a P-N 

junction for Germanium is about :  

(A)   3.5 V 

(B) 3.0 V 

(C) 0.0 V 

(D) 0.3 V 

 40. tesZfu;e ds fy, P-N lfU/k ij fojks/kh 

foHko gS % 

(A)   3.5 V 

(B) 3.0 V 

(C) 0.0 V 

(D) 0.3 V 

41. A forward biased P-N Junction has 

a resistance of the :  

(A)   Order of Ω 

(B) Order of KΩ 

(C) Order of MΩ  

(D) Zero  

 41. ,d vxzvfHkur P-N laf/k esa izfrjks/k gksrk 

gS% 

(A) vkse ds Øe dk 

(B) fdyks vkse ds Øe dk 

(C) esxk vkse ds Øe dk 

(D) ‘kwU; 
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42. A trivalent impurity has valence 

electrons :  

(A)   4 

(B) 5 

(C) 6  

(D) 3   

 42. ,d f=la;ksth v’kqf) esa la;ksth bysDVªkWu 

dh la[;k gS % 

(A) 4 

(B) 5 

(C) 6 

(D) 3 

43. Addition of Trivalent impurity to a 

semiconductor creates :  

(A)   Free electrons 

(B) Holes 

(C) Valence electrons  

(D) Bound electron  

 43. ,d v)Zpkyd esa f=la;ksth v’kqf) feykus 

ij mRiUu gksrk gS % 

(A) eqDr bysDVªkWu  

(B) gksYl 

(C) la;ksth bysDVªkWu 

(D) cU/k bysDVªkWu 

44. Addition of Pentavalent impurity 

to a semiconductor, creates many :  

(A)   Free electrons 

(B) Free holes 

(C) Valence electrons 

(D) Bounded electrons   

 44. ,d v)Zpkyd esa iapla;ksth v’kqf) feykus 

ij D;k gksrk gS % 

(A) eqDr bysDVªkWu 

(B) eqDr gksYl 

(C) la;ksth bysDVªkWu 

(D) cU/k bysDVªkWu 

45. A Pentavalent impurity has 

valence electrons :  

(A)   3 

(B) 5 

(C) 4  

(D) 6   

 45. ,d iapla;ksth v’kqf) esa la;ksth bysDVªkWu 

gksrs gS % 

(A) 3 

(B) 5 

(C) 4 

(D) 6 
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46. An n-type semiconductor is :  

(A)   Positively charged 

(B) Negatively charged 

(C) Neutral electrically  

(D) None of these  

 46. ,d n-Vkbi v)Zpkyd gS % 

(A) /kukRed vkosf’kr 

(B) _.kkRed vkosf’kr 

(C) oS|qrh; mnklhu 

(D) buesa ls dksbZ ugha 

47. The strength of a semiconductor 

crystal comes from :  

(A)   Force of nuclic 

(B) Force between proton 

(C) Electron pair bonds  

(D) None of these 

 47. v)Zpkyd fØLVy dh lkeF;Z vkrh gS % 

(A) ukfHkdksa ds chp cy ls  

(B) izksVkWuksa ds chp cy l 

(C) bysDVªkWu ca/k ;qXe ls 

(D) buesa ls dksbZ ugha 

48. Natural semiconductor added with 

pentavalent impurity, it becomes :  

(A)   n type semiconductor 

(B) p type semiconductor 

(C) Insulator  

(D) No change 

 48. izkÑfrd v)Zpkyd esa iapla;ksth v’kqf) 

feykus ij izkIr gksrk gS % 

(A) n - Vkbi v)Zpkyd 

(B) p - Vkbi v)Zpkyd 

(C) vpkyd 

(D) dksbZ ifjorZu ugha 

49. The most useful semiconductor is :  

(A)   Ge 

(B) Si 

(C) C  

(D) S   

 49. lcls vf/kd mi;ksxh v)Zpkyd gS % 

(A)   Ge 

(B) Si 

(C) C  

(D) S 

50. A semiconductor is formed by 
bonds :  
(A)   Covalent 
(B) Electrovalent 
(C) Co-ordinate 
(D) Electrovalent doublet   

 50. ,d v)Zpkyd curk gS % 

(A) lg&la;kstd cU/k ls 

(B) oS|qr la;ksth cU/k ls 

(C) funsZ’kkad cU/k ls 

(D) oS|qr la;ksth f}rh;d ls 
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51. The gate (G) of JFET is ______ 

biased.  

(A)   Reverse 

(B) Forward 

(C) Reverse and forward both  

(D) None of these  

 51. JFET dk (G) xsV dh ckbflax gksuh 

pkfg,% 

(A) i’p vfHkur 

(B) vxz vfHkur 

(C) vxz o i’p nksuksa 

(D) mDr esa ls dksbZ ugha 

52. A JFET is also called as :  

(A)   Unipolar transistor 

(B) Bipolar transistor 

(C) Unijunction transistor  

(D) None of these   

 52. JFET dks ;g Hkh dgrs gSa % 

(A) ,d vkos’kh VªkaftLVj 

(B) nks vkos’kh VªkaftLVj 

(C) ,dy lfU/k VªkaftLVj 

(D) mijksDr esa dksbZ ugha 

53. JFET is similar in operation to :  

(A)   Diode 

(B) Pentode 

(C) Triode 

(D) Tetrode 

 53. dk;Z ds vuqlkj JFET lekurk /kkfjr 

djrk gS % 

(A) Mk;ksM ds 

(B) is.VksM ds 

(C) VªkbvksM ds 

(D) VsVªksM ds 

54. The transistor is used in _______ 

mode to clip the input waveform.  

(A)   Cut off 

(B) Saturation 

(C) (A) & (B) correct 

(D) None is correct 

 54. vkxr rjax flXuy dks fDyi djus gsrq 

VªkaftLVj dks fdl eksM esa iz;ksx djrs gS % 

(A) dV&vkWQ 

(B) larÌr 

(C) (A) vkSj (B) lgh gS 

(D) buesa ls dksbZ ugha 
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55. Diode clipper are used in :  

(A)   Protection 

(B) Radar 

(C) Computers 

(D) All are correct 

 55. Mk;ksM fDyij iz;ksx gksrk gS % 

(A) lqj{kk esa 

(B) jkMkj esa 

(C) dEI;wVj esa 

(D) lHkh lgh gS 

56. A circuit used to remove the 

negative cycle of the input signal 

is called series _______ clipper.  

(A)   Negative 

(B) Positive 

(C) Ambiguous statement  

(D) None of these   

 56. ,d ifjiFk tks fd vkxr rjax ds _.kkRed 

pØ dks gVkuk pkgrk gS] dks dgrs gaS % 

(A) Js.kh _.kkRed fDyij 

(B) Js.kh /kukRed fDyij 

(C) vLi”V dFku 

(D) buesa ls dksbZ ugha 

57. Transistor is also used as a clipper 

on limiter just like a diode :  

(A)   True 

(B) False 

(C) Ambiguous statement  

(D) None of these   

 57. VªkaftLVj dk mi;ksx Hkh] Mk;ksM dh rjg gh] 

fDyij gsrq fd;k tkrk gS % 

(A) lR; 

(B) vlR; 

(C) vLi”V dFku 

(D) buesa ls dksbZ ugha 

58. ________ is used as biasing 

voltage in biased clippers.   

(A)   DC voltage source 

(B) Battery 

(C) Oscillator 

(D) (A) & (B) are correct 

 58. ckblfDyij esa ckbflax foHko gsrq iz;ksx 

djrs gS % 

(A) MhŒ lhŒ foHko lzksr 

(B) cSVjh 

(C) nksfy= 

(D) (A) rFkk (B) nksuksa lgh gSa 
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59. The potential barrier voltage of 

silicon is :  

(A)   0.3 V 

(B) 0.7 V 

(C) 0.1 V 

(D) 0.5 V 

 59. flfydkWu gsrq foHko izkphj gS % 

(A)   0.3 V 

(B) 0.7 V 

(C) 0.1 V 

(D) 0.5 V 

60. In a diode series clipper, the diode 

is used in series while resistor is 

used in :  

(A)   Parallel 

(B) Series 

(C) Ambiguous statement  

(D) None of these   

 60. ,d Js.kh Mk;ksM fDyij esa] Mk;ksM rks Js.kh 

esa jgrk gS fdUrq izfrjks/k jgrk gS % 

(A) Js.kh esa 

(B) lekUrj esa 

(C) vLi”V dFku 

(D) buesa ls dksbZ ugha 

61. DC battery is used to fix the 

clipping level.  

(A)   True 

(B) False 

(C) Ambiguous statement  

(D) None of these  

 61. MhŒ lhŒ cSVjh dk iz;ksx fDyij Lrj dks 

cukus gsrq djrs gSA 

(A) lR;  

(B) vlR; 

(C) vLi”V dFku 

(D) buesa ls dksbZ ugha 

62. How many types of non linear 

wave shaping circuits :   

(A)   1 

(B) 2 

(C) 3  

(D) 4   

 62. vljy js[kh; rjax fu;eu ifjiFk ds izdkj 

gSa % 

(A) 1 

(B) 2 

(C) 3 

(D) 4 
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63. In a transformer the resistance 
between its primary and secondary 
should be :   
(A)   Zero 
(B) 10 Q 
(C) 1000 Q 
(D) Infinity 

 63. Vªk¡lQkeZj ds izkFkfed o f}fr;d dq.Myh 

ds e/; izfrjks/k gksuk pkfg, %  

(A) ‘kwU; 

(B) 10 Q 

(C) 1000 Q 

(D) vuUr 

64. The core used in high frequency 
transformer is usually :  
(A)   Copper core 
(B) Cost iron core 
(C) Air core 
(D) Mild steel core  

 64. mPp vkòfÙk Vªk¡lQkeZj esa mi;ksx djrs gS % 

(A) rk¡ck dksj 

(B) dkWLV vkbju dksj 

(C) ok;q dksj 

(D) ekbYM QkSykn dksj 

65. Power transformer is a constant :  

(A)   Voltage device 

(B) Current device 

(C) Power device  

(D) Main flux device  

 65. ‘kfDr Vªk¡lQkeZj ,d ;qfDr gS % 

(A) foHko ;qfDr 

(B) /kkjk ;qfDr  

(C) ‘kfDr ;qfDr 

(D) eq[; ¶yDl ;qfDr 

66. In a transformer routine efficiency 
depends upon :  
(A)   Supply frequency 
(B) Load current 
(C) Power factor of load 
(D) Both (B) & (C) 

 66. Vªk¡lQkeZj dh fu;fer n{krk fuHkZj djrh gS% 

(A) lIykbZ vkòfÙk ij 

(B) vf/kHkkj /kkjk ij 

(C) vf/kHkkj ds ‘kfDr xq.kkad ij 

(D) (B) rFkk (C) nksuksa 

67. The efficiency of the power 

transformer is of the order of :  

(A)   100% 

(B) 98% 

(C) 50% 

(D) 25% 

 67. ikoj Vªk¡lQkeZj dh n{krk Lrj gS % 

(A)   100% 

(B) 98% 

(C) 50% 

(D) 25% 
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68. A transformer transforms :  

(A)   Voltage 

(B) Current 

(C) Power 

(D) Frequency 

 68. Vªk¡lQkeZj cnyrk gS % 

(A) oksYVrk ¼foHko½ 

(B) /kkjk 

(C) ‘kfDr 

(D) vkòfÙk 

69. In the transformer following 
winding has got more cross-
sectional area :   
(A)   Low voltage winding 
(B) High voltage winding 
(C) Primary winding 
(D) Secondary winding 

 69. fdlh Vªk¡lQkeZj esa dkSu lh okbfXMax vf/kd 

ikj vuqHkkx {ks=Qy j[krh gS % 

(A) fuEu oksYVrk okbf.Max 

(B) mPp oksYVrk okbf.Max 

(C) izkFkfed okbf.Max 

(D) f}rh;d okbf.Max 

70. The Dielectric strength of the 
transformer oil is expected to be :  
(A)   1 KV 
(B) 33 KV 
(C) 100 KV 
(D) 330 KV  

 70. Vªk¡lQkeZj rsy dh ijkoS|qr ‘kfDr visf{kr gS% 

(A)   1 KV 

(B) 33 KV 

(C) 100 KV 

(D) 330 KV 

71. The path of the magnetic flux in a 

transformer should have :  

(A)   High resistance 

(B) High reluctance 

(C) Low resistance 

(D) Low reluctance  

 71. Vªk¡lQkeZj esa pqEcdh; ¶yDl iFk /kkfjr 

djuk pkfg, % 

(A) mPp izfrjks/k 

(B) mPp izfr”VaHk 

(C) fuEu izfrjks/k 

(D) fuEu izfr”VaHk 

72. The transformer core is laminated 
to :  
(A)   Reduce hysteresis losses 
(B) Reduce eddy current losses 
(C) Reduce copper losses  
(D) Reduce all the above  

 72. Vªk¡lQkeZj dh dksj dks ysehusV fd;k tkrk 

gS% 

(A) fgLVSfjlh; gkfu de djus gsrq 

(B) Hk¡oj /kkjk gkfu de djus gsrq 

(C) /kkfRod gkfu de djus gsrq 

(D) mijksDr lHkh de djus gsrq 
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73. In a transformer the energy is 

converged from primary to the 

secondary :  

(A)   Through cooling coil 

(B) Through Air 

(C) By the Flux 

(D) None of the above  

 73. Vªk¡lQkeZj esa ÅtkZ izkFkfed dq.Myh ls 

f}rh;d dq.Myh esa tkrh gS % 

(A) ‘khryu Dokby (Coil) }kjk 

(B) gok }kjk 

(C) ¶yDl }kjk 

(D) mDr esa ls dksbZ ugha 

74. Which of the following does not 

change in transformer ?  

(A)   Current 

(B) Voltage 

(C) Frequency  

(D) All of the above  

 74. Vªk¡lQkeZj esa D;k ugha cnyrk gS \ 

(A) /kkjk 

(B) foHko 

(C) vkòfÙk 

(D) mDr lHkh 

75. For the R-C coupled amplifier the 

transistor are used in :  

(A)   C-B Mode 

(B) C-E Mode 

(C) C-C Mode  

(D) All modes   

 75. R-C difyr izo/kZd esa VªkaftLVj iz;ksx 

fd;s tkrs gSa % 

(A) C-B foU;kl esa 

(B) C-E foU;kl esa 

(C) C-C foU;kl esa 

(D) lHkh foU;klksa esa 

76. D.C. load line of the transistor : 

(A)   Has a negative slope 

(B) Is a curved line 

(C) Does not contain Q-Point 

(D) None of these  

 76. VªkaftLVj dh D.C. yksM ykbu (D.C. load 

line) j[krh gS % 

(A) _.kkRed izo.krk 

(B) oØh; js[kk 

(C) Q-fcUnq ugha j[krh gS 

(D) buesa ls dksbZ ugha 
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77. Clipper circuit is also known as :   

(A)   Limiter circuit 

(B) Clamp circuit 

(C) Chopping circuit 

(D) None of these 

 77. fDyij lfdZV dks ;g Hkh dgrs gSa % 

(A) fyfefVax ifjiFk 

(B) DysEi ifjiFk 

(C) pksfiax ifjiFk 

(D) buesa ls dksbZ ugha 

78. Which have negative resistance 

characteristics ?  

(A)   Photo Diode 

(B) Tunnel Diode 

(C) Varactor Diode  

(D) Zener Diode 

 78. fuEu esa dkSu _.kkRed izfrjks/k pkfjf=d 

y{k.k j[krk gS \ 

(A) QksVks Mk;ksM 

(B) Vuy Mk;ksM 

(C) oSjsDVj Mk;ksM 

(D) tsuj Mk;ksM 

79. FET used in :  

(A)   Amplifier 

(B) Analog switch 

(C) Oscillator 

(D) All the above  

 79. FET mi;ksx gksrk gS % 

(A) izo/kZd esa 

(B) ,ukykWx fLop esa 

(C) nksfy= esa 

(D) mi;qZDr lHkh 

80. ______ is an example of Acceptor 
impurity.  
(A)   Boron 
(B) Phosphorous 
(C) Aluminium 
(D) Copper   

 80. ______ ,d xzkgd v’kqf) gSA 

(A) cksjkWu 

(B) QkLQksjl 

(C) ,Y;qfefu;e 

(D) dkWij 

81. Band gap of an Insulator is :  

(A)   Moderate 

(B) Low 

(C) Very low 

(D) High  

 81. ,d vpkyd esa cS.M xsi ¼cS.M&nwjko½ gksrk 

gS % 

(A) larqfyr 

(B) fuEu 

(C) vfr fuEu 

(D) mPp 
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82. In BJT operation of Amplification 
the terminal is forward biased :  
(A)   Emitter 
(B) Base 
(C) Collector  
(D) Gate (G) 

 82. BJT izo/kZd esa vxz vfHkur gksrk gS % 

(A) mRltZd 

(B) vk/kkj 

(C) laxzkgd 

(D) xsV (G) 

83. FET is a device :  

(A)   Voltage controlled 

(B) Current controlled 

(C) Self controlled 

(D) None of these   

 83. FET ,d ;qfDr gS % 

(A) foHko fu;fU=r 

(B) /kkjk fu;fU=r 

(C) Lo fu;fU=r 

(D) buesa ls dksbZ ugha 

84. BJT is a device :  

(A)   Voltage controlled 

(B) Current controlled 

(C) Self controlled 

(D) None of these  

 84. BJT ,d ;qfDr gS % 

(A) foHko fu;fU=r 

(B) /kkjk fu;fU=r 

(C) Lo fu;fU=r 

(D) buesa ls dksbZ ugha 

85. In BJT current is controlled by :  

(A)   Base 

(B) Collector 

(C) Emitter 

(D) External control  

 85. BJT esa /kkjk fu;U=.k gksrk gS %  

(A) vk/kkj ls 

(B) laxzkgd ls 

(C) mRltZd ls 

(D) cká fu;U=.k 

86. The main function of BJT is :  

(A)   Amplification 

(B) As witch 

(C) As Rectifier 

(D) Both (A) & (B)   

 86. BJT dk eq[; dk;Z gS % 

(A) izo/kZu esa 

(B) fLop dh Hkk¡fr 

(C) fn”Vdkjh gsrq 

(D) nksuksa (A) o (B) 



Series-D B.Sc. – B140201T / K-261 Page - 23 

87. MOSFET is :  

(A)   Active device 

(B) Passive device 

(C) Relative device  

(D) None of these  

 87. MOSFET gS % 

(A) lfØ; ;qfDr 

(B) vizfrjks/kh ;qfDr 

(C) lkisf{kd ;qfDr 

(D) buesa ls dksbZ ugha 

88. What are the main terminals in 

MOSFET which carry current :  

(A)   Source 

(B) Drain 

(C) Gate 

(D) Source & Drain 

 88. MOSFET ds eq[; ?kVd tks fd /kkjk ds 

izokg dks la;ksftr djrs gSaA 

(A) lkslZ (S) 

(B) Mªsu (D) 

(C) xsV (G) 

(D) lkslZ o Mªsu (S & D) 

89. The charge carrier controlled in 

MOSFET :  

(A)   Majority 

(B) Minority 

(C) Both majority & minority     

(D) None of these  

 89. MOSFET esa vkos’k okgd fu;fU=r fd;s 

tkrs gSA 

(A) cgqla[;d 

(B) y?kqla[;d 

(C) nksuksa cgqla[;d o y?kqla[;d 

(D) buesa ls dksbZ ugha 

90. MOSFET is :  

(A)   Unidirectional  

(B) Bidirectional 

(C) Unipolar 

(D) (B) & (C) both   

 90. MOSFET gS % 

(A) ,d fn’kh; 

(B) f}fn’kh; 

(C) ,dkdh vkos’kh 

(D) (B) rFkk (C) nksuksa  

91. The “Early effect” in transistor is 
also known as :  
(A)   Zero modulation 
(B) Collector modulation 
(C) Emitter width modulation  
(D) Base width modulation  

 91. Þvjyh izHkkoß dks ;g Hkh dgrs gS % 

(A) ‘kwU; ekMwys’ku 

(B) laxzkgd ekMwys’ku 

(C) mRltZd pkSM+kbZ ekMwys’ku 

(D) vk/kkj pkSM+kbZ ekMwys’ku 
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92. Stability factor in fixed bias is 
given by :  
(A)   ݏ = ߚ + 1 
(B) ݏ = ߚ + 2 
(C) ݏ = ߚ + 3 
(D) None of these 

 92. fu;r csl ck;l gsrq LFkkf;Ro ?kVd dks 

fn;k tkrk gS % 

(A)   ݏ = ߚ + 1 
(B) ݏ = ߚ + 2 
(C) ݏ = ߚ + 3 

(D) buesa ls dksbZ ugha 

93. For proper operation the operating 
point on the DC load line must be 
at :  
(A)   The end point 
(B) Middle 
(C) The max. current point  
(D) None of these  

 93. mfpr izcU/ku gsrq] izpkyu fcUnq DC Hkkj 

js[kk (DC line) ij gksuk pkfg, % 

(A) vUr fcUnq ij 

(B) e/; fcUnq ij 

(C) vf/kdre /kkjk fcUnq ij 

(D) buesa ls dksbZ ugha 

94. The disadvantage of the voltage 
divider bias is that it has :  
(A)   High stability factor 
(B) Low base current 
(C) Many resistances in circuits  
(D) None of these  

 94. foHko foHkktd ok;flax dk nks”k gS % 

(A) LFkk;h ?kVd mPp gksrk gS 

(B) csl /kkjk de gksrh gS 

(C) cgqr ls izfrjks/k gksrs gS 

(D) buesa ls dksbZ ugha 

95. Thermal “run-away” occurs when : 
(A)   Collector is reverse Biased 
(B) Transistor is not biased 
(C) Emitter is not forward Biased 
(D) Junction capacitance is high  

 95. FkeZy Þju&vosß dh leL;k vkrh gS tcfd % 

(A) laxzkgd i’p vfHkur gksrk gS 

(B) VªkaftLVj ck;flax ugha dh tkrh 

(C) mRltZd vxz vfHkur ugha gksrk gS 

(D) laf/k /kkfjrk vf/kd gksrh gS 

96. If temperature increases the value 
of ஼ܸா:  
(A)   Remains the same 
(B) Increases 
(C) Decreases 
(D) None of these   

 96. ;fn rkieku c<+rk gS rc ஼ܸா dk eku % 

(A) leku jgrk gS 

(B) c<+rk gS 

(C) ?kVrk gS 

(D) buesa ls dksbZ ugha 
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97. The point of intersection of AC 
and DC load lines represents :   
(A)   Operating point 
(B) Current gain 
(C) Voltage gain  
(D) None of these  

 97. AC rFkk DC Hkkj js[kk dk dVku fcUnq 

iznf’kZr djrk gS % 

(A) izpkyu fcUnq 

(B) /kkjk ykHk 

(C) oksYVrk ykHk 

(D) buesa ls dksbZ ugha 

98. The operating point is also called 
as :  
(A)   Cut-off point 
(B) Q-point 
(C) Saturation point 
(D) None of above  

 98. izpkyu fcUnq ;g Hkh dgykrk gS % 

(A) dV&vkWQ fcUnq 

(B) Q&fcUnq 

(C) lUrÌr fcUnq 

(D) buesa ls dksbZ ugha 

99. The circuit which gives the best 
stabilization of operating point :  
(A)   Base resistance Bias 
(B) Collector feedback Bias 
(C) Potential divider Bias 
(D) None of these  

 99. og ifjiFk tks izpkyu fcUnq gsrq mÙke 

LFkk;hdj.k iznku djrk gS % 

(A) csl izfrjks/k ck;l 

(B) dysDVj QhMcSd ck;l 

(C) foHko foHkktd ck;l 

(D) buesa ls dksbZ ugha 

100. The ideal value of stability factor 
is :  
(A)   100 
(B) 200 
(C) 200 above 
(D) 1  

 100. LFkkf;Ro ?kVd dk vkn’kZ eku gS % 

(A) 100 

(B) 200 

(C) 200 ls T;knk 

(D) 1 
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Series correctly in the O.M.R. sheet, the examinee will be responsible for 

the error he / she has made. 

2. This Question Booklet contains 100 questions, out of which only 75 

Question are to be Answered by the examinee. Every question has 4 

options and only one of them is correct. The answer which seems 

correct to you, darken that option number in your Answer Booklet 

(O.M.R ANSWER SHEET) completely with black or blue ball point 

pen. If any examinee will mark more than one answer of a particular 

question, then the answer will be marked as wrong.   

3. Every question has same  marks. Every question you attempt correctly, 

marks will be given according to that. 

4. Every answer should be marked only on Answer Booklet (O.M.R 

ANSWER SHEET).Answer marked anywhere else other than the 

determined place will not be considered valid. 

5. Please read all the instructions carefully before attempting anything on 

Answer Booklet(O.M.R ANSWER SHEET). 

6. After completion of examination, please hand over the O.M.R. SHEET to 

the Examiner before leaving the examination room.   

7. There is no negative marking. 

Note: On opening the question booklet, first check that all the pages of the 

question booklet are printed properly in case there is an issue please ask the 

examiner to change the booklet of same series and get another one. 


